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% Read the following passage and answer the questions.

Some fuels are derived from the fossilized remains of plants and animals, and they take more
than 80 percent of worldwide energy consumption. Despite modern society's heavy dependence on
fossil fuels for energy, most people are aware that the supply of these fuels is finite. Researchers
are looking for alternative energy sources, including solar and nuclear power. Solar panels catch
energy directly from the sun and convert it into electricity. Unlike the burning of fossil fuels, the
process of converting solar energy into electricity produces no emissions. Today, however, solar
power generation system is responsible for roughly one percent of the overall energy consumption,
primarily because the cost of the panels is still very high. And price is only one issue. Darkness
also causes solar panels (A) collect less energy, which requires one to have additional
power sources available. Some scientists think the solution to this problem can be found in “space”.

With no nighttime at a certain orbit, a space-based solar power station could operate continuously.

These stations would send the power back to the earth, which could then be turned into electricity
for consumption. Advocates of solar space stations say this technology would require a lot of money

initially, but eventually it could provide continuous, clean energy that would be (B) than
other fuels.

What does "fossil fuels" mean?

What can be substitutes for fossil fuels?

What are the advantages and disadvantages of solar power?
Fill in the blank (A) with a suitable word.

Translate the phrase "With no nighttime at a certain orbit" into Korean.

Why does the author of this passage mention "space"?

What does "advocates" mean in the last sentence?
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Fill in the blank (B) in the last sentence with a suitable word.
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